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MOLTHE CirGie Hours
Worked Percent
T7H O // per Week | of Employees
¥ 1-10 11
11-20 23
21-30 28
3140 38

i 1 contains the mode
, What percent of employees //c What interva .
9 workes less than 21 hours/week? of the number of hours worked?
A. 1-10 B. 11-20 C. 21-30 D. 31-40

A. 23% B. 28% C. 34% D. 66%

T {2.—13, job performance ratings have been scaled so that the rating
listed below correspond to the indicated percentile ranks.
Five is the best rating that can be given and 0 is the worst,

Percentile

Ruting Rank

5 99

4 95

3 79

2 37

1 17

0 05

(3, Seventy-nine percent of the
employees received ratings
below which number?

/2. What percent of the employees
received ratings between
2 and 4?

A. 37% B. 58% C. 79% D. 211% A. 1 B. 2 c. 3 D. 4

/4¢ A city council would like to obtain the opinion of its citizens
’ about the operation of its garbage collection service. Which
procedure would be the most appropriate for obtaining a
statistically unbiased sample?

A. Distribute a questionnaire in the city newspaper for residents
to complete and mail in.

B. Select by blind drawing several geographic regions of the city
and use the same method to select a sample of people within

those regions to survey.

C. Select every tenth name from the telephone directory.

D. Have the persons attending a city council meeting write their
names on slips of paper and drop them in a container; then
choose a sample from the container to survey.
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The graph below represents the ages of
a random selection of people who
caught a particular virus in 1993.
Select the statement that is true about
the distribution of ages.

Frequency

{number of people)

= HHH

/7.

oOQwp

12 17 22 27 32 37 42

A. The mode 15 greater than the mean.

B. The mode and the mean are the

same.

C. The mediun is greater than the

mode.

D. The mediwn and the mode are the

same.

In a mathematics class, half the
students scored 85 on an achieve-
Most of the remaining
students scored 75 except for a
few students who scored 20.

Which of the following statements
is true about the distribution of

ment test.

scores?

The mean and mode are the same.
The mean and median are same.
The mean is less than median.
The mean is greater than median.
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The following plot depicts the rainfall
in inches and the yields of wheat in
bushels per acre.
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Which of the following oest describes
the relationship between the amount of
rainfall and yields of wheat

A. There is no apparent association
between rainfall and wheat yield.

B. An increase in raintall caused an

increase in wheat yield.

C. There is a positive association

between rainfall and wheat yield.

D. There is a negative association

between rainfall and wheat yield.






